Completing the Square
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REVISE THIS
TOPIC

Express X2+ 6x+11 inthe form (x+a)2+b

(x+$\L—Q+ |

e (XAD) +2

Express x2+8x+30 intheform (x+a)2+b

(x +4)° -16 + 30O

Gt 4 1

Express Xx2+4x+1 inthe form (x+a)2-b

(e+2)=4 +\

(>t 2) "-1

Answer

[2 marks]

[2 marks]

[2 marks]
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Express x2—-10x+12 intheform (x—a)2-b

(x -5)-2S +\L

Answer (IJ— 5)7-— \g

Express x2-2x+13 intheform (x—a)2+b

(x-N"=1 +13

o (171) 4 L

Express x2—-12x—16 intheform (x—a)’+b

(x—6)"-36-16

Answer (x’ - c’\ L’ S l

Express X2 —20x inthe form (x-a)2-b

(=10 - 100

Answer (L’ \ D\L — \ DO
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[2 marks]

[2 marks]

[2 marks]

[2 marks]
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8 Express x2+3x+5 intheform (x+a)+b
(x+% )
zO
(x+ \ T
7,\? I\
Answer (x— + /7—) + /‘-\'
9 Express X2—-5Xx+7 inthe form (x—a)2+b

7
(DC z) 25 g
(1_2 -‘%*Zq,

Answer (DL" %.Y + %—
10 Express x2+9x+3  intheform (x+a)2—b
(x +%)7'— 243
(%)~ B %
N 22 A
11 Express X2—X—-2.75 intheform (x—a)2—b

(x-4Y- % -2%

Answer (1" %,\ = 3
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[3 marks]

[3 marks]

[3 marks]

[3 marks]

Turn over »



http://www.1stclassmaths.com/

° y r@ @1stclassmaths 4

12 Here is an identity
X2+px+32=(x+5)2-(

Work out the values of p and g. [3 marks]

X+ px+ 3L = X+ 10 +25 -
LA o

px = (0x 12=5 -9
=10 G:= 15-2)
}=°
o= \O - —71

13 Here is an identity
X2—-8X+p=(X+Q)P2-4

Work out the values of p and q. [3 marks]
1 - 2 l ) [_*
X -8x + E = X + L9x +4,

_gx’ - 211‘ — ‘l_,q_
8= 1q P?-j'-%”‘-lt

Cl‘: -l ?:- \bo -&
p= Il q= _L"
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